Squirrels Maths 
Year 2
Can you find the answers using mental calculations? Remember you can count on and back in tens.
Adding and subtracting 10

24 + 10 =
38 + 10 =
26 + 10 =
63 + 10 =
45 + 10 =
27 + 10 =
14 + 10 =
29 + 10 =
46 + 10 =
46 – 10 =
24 – 10 =
33 – 10 =
48 – 10 =
35 – 10 =
42 – 10 =
81 – 10 =
53 – 10 =
34 – 10 =
23 – 10 =
6 + 10 =
15 – 10 =
28 – 10 =
2 + 10 =
4 + 10 =

17 – 10 =
1 + 10 =
12 – 10 =









Year 1 
[bookmark: _GoBack]Please visit the website link and complete Lesson 1 - Part-whole relationships number bonds
You can find this under Summer Term – Week 3 (w/c 4th May) on
https://whiterosemaths.com/homelearning/year-1/ 
Children can watch the video and solve the questions.

